O8uunbuooooon

1

N

N

[

10

11

12

(1) 000 (2,0),00000 z=-200000
000000000000000000000

(2) 00000000000000000000
ooo

i y? = -3z ii. y = 222

(3) 0 F(4,0) 000000 l:2=-400000
00000000000

0 (x—4)2+y2=1000 2=-30000000
0000000 POOOOOOOO

gboboooooboboboooboobogonog
gooooooo

22 g2
A
16+9

(2) 2522 + 16y = 400
(1)

000 F(3,0),Fr(3,0)00 A(—4,0) 000000
00000000

3
0 «’+y’=250 000000030000 ¢
00000000000000000000

OO 2000000 A,BOOODODO 0000y
OO000oOoo0o0oDooooOobD ABOOODOOO
BP=10000000 POOOOODDO POO
oooood

obobooboboboboboboboboono
oooo

y? (2) 922 — 25y = —225

goooooooooooooboobo

(1) 20 (5,0),(=5,0) 000000000000
ogpooo 80ouoad

(2) ood (Oa 4>,(Oa 74)
goodod

00000000 +—=
V3z

(1) 00 422425y2 =100 0 2 0000 -2,y O
000300000000000000000
00000000000000

(2) 00 922 —4y? —36r —24y—36=00000
oog

gobooobooobooboooboboooboooboo
k,LmOOOOOOD

(1) 22 + 49> =20,y =2z + k
(2) 422 —y? =4, y=ma

00 y=42+1000 422 +42=4000000
0000000000000000000

000 22-2y2=4000 y=—2z+k0000 2
0P, QUOOOOO

(1) 00 k0000000 DO0OO0OODOO0

13

14

15

16

17

18

19

20

21

22

23

24

25

(2) (1)0000 k0000000000 PQOO
OMOODOO0OO0OOO

000 y2=4pr (p>0)000 FOOOOODOO
0000000 P,QO0O00O0O0O P,QOOF

0 1200000000000 PQOOOOODOOO
2 2

D(J,&DDDD%5+%:1DDDDDDDD
ooooood
000 y*=4pzr (p>0)000 P(zy,y1) 00O

oobod 000000 T,0000000 FOO
OO0O0/PTF=/TPFOOO00O0O0O0DOODOOOO
U0z, >0,y >00000

000 2*-4y*=4000 (e, b) 00000000
O0mO0000000000000000b#0
oooo

(1) a,b,m 00000000000

(2) 00000000000 y=2c000000
d00004d00000000D0000d0O0
gboooboobooooboooooaon

a>0,a#100000 A(e, 0) J0DOO0O0OOOO
1

r=—-00000000 e:10000 POOODO
a

oood

00000000000000000 POOOOO
00000000000000000000000
Q,RO0ODOCOOOOOD OOODOOOO0OO 0Q,
ORO0O000DOO0O0O0O0O0OOOO0DOOOO0O

000 y?2=6:000 POOOO A (¢, 0) 000
0000000000000 0000000000

00 #2+4y?=4000000000000 P (a, b)
00000000000 200000000000
00 POOOOOOOO

0000 f(z), g(x) 000000000 gof(x), fo
g9(z), gog(x) DOODODO

O0o000O00oOooooo
(1) y=3z+5
O0y=43zr—1 (0<2<3)000000000
D00000O0oood

gboboboooboooobobooboobooon
obooooooooogn

(1) y=22(x<0) (2 y=-L+2(@>2)

flz)=|z—2/000000000000

(1) 00 y=f(z) 00000000
(2) 00 y=fof(x) 00000
(3) 000 fof(x)=f(z) 0000



